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Nig

|A° B = |A||B]| cos 6 inner product, dot product\
B 4 HA Y MLORTE
Z
y
A-B x
= (RA, + 94, + 24,) - (B, + 9By, + 2B,) . _
= A,B, + A,B, + A,B, x-x=1 x-y=0
<P-y=1 < y-2=0
([8%] 7 bARTINY FAERLESE W ls521 lz.220
(fTHnEE L T) N .
'[qx' _lgx- \\‘ A//
A: Ay ’B= By _Bx_
) Bzl A-B=A'B=[4,4,4,]|B,
B,
\ -
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NIFDER (552

A-B = |A||B|cosé6

|A| cos @

. A%

4 = (%A + 9A, + 24,) - %
:Ax

X
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NIEDETFE G

A-B=1-44+2-5+3-6
=4+ 10 + 18 = 32

1 4
A=|2|,B=|5
3 6
a .
Mathematica
Infi]:= a: [ 1, 2, 3] ;
b: (4,5, 6 ;
In[3]:= a.b
Out[3]= 32
In[4]:= Dot| a, b
k Out[4]= 32

-

—/\/— T. Hirano

MATLAB \

% s TITIDITERYSL, ho< ()R
&—Xf?ﬁmmgiéz@]éo
YDFEY . XRIFHRY FILERFEL TL
P
a=[1; 2; 3];
b=[4; 5; 6];
% . IFERE. [FTI)LS— FERE. *IET
& LTDRE
a.  *b
Ans =

32 /




5\ #5(A x B)

M :

cross product, outer product, vector product

BERERIIRXZ7 ML A XB

(6 < 180°& L TA

-

\

BHNNT ~ILDONE

A HBICE L )
*THEE B HME
(BiICETELES)
KEI:ABORY hIL

e

TR S 5 F{TIHIH
DEE S A
XXy =2 XX =—2
AXxB { YyXZ2=% <ZXy=-X%
= (RA, + 94, + 24,) X (B, + 9B, + 2B,) 2x%2=9 (#x2=-9
X y Z - o
=[(Ax 4y A Xxx=0
By By B, < yxy=0
= 2(4yB, — A:B,) = 9(AsB, — AB) + H(A:By — AB)  (2X2=0

T. Hirano




NIEDETFEH

1 4 X y 2
A=|2],B= 5] AXB=(1 2 3
3 6 4 5 6
NY: ﬂ_A1 ﬂ+21 2
5 6l Vla 6l T%l4 s
=x(2:-6—-3:5)—-9(1-6—-3:-4)+2(1-5—-2-4)
—3
=9?(—3)—37(—6)+z“(—3)=l6]
—3
Mathematica 4 R
MATLAB
Inf1]:= a: (1, 2, 3| ; ans =
b: 4,5, 6 ; a=[1; 2; 3],
b=[4;, 5, 6]; -3
In[3]:= Cross| a, b cross(a, b) 6
out[sl= |- 3, 6, - 3 -3
\ % - J
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[ZZ]1RIED HECEE]

A

A-(B+C) =A-B+A-C

(B+C)-A

T. Hirano



[ZZ 15 a0 HECEE|

AXx (B+C)

A, B+ CxETEN

T. Hirano

AN

AX(B+C)=AxXB+AXxXC

A

A Xx (B+C)

AX(B+C =Ax(B+0C) D —
AxXxB=AxB' AR RTALIEN

AxC=AxC(C



NiE- N EOERA - A

Ats A

A-B+C)=A-B+A-C (DEER) 6 B
=

%7’!(,5\ A-B= |A||B| cos 6

AXB=-BXxXA {#£8p
AX(B+C =AxXxB+AxC (HE=R)
AxXx(BxC)#(AxB)xC ($Eas=E) AXB

B
POfE & SN
A-BXxC=B-(CxA)=C-(AXB)
AXx(BxC=(A-CB-(A-B)C i A
{(AXB)XC:—CX(AXB)J IA X B| = |A||B| sin @
=—(C-B)A+ (C-A)B

T. Hirano 9
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TRIRZEROICHLE LU= IKDAKIE

A X

OLBFD & O i

B

A

c/

vy ]

= |A X B|
N\
A

Volume
= |A||B| sin 8, |C| cos 8,
= |A X B||C| cos 6,
=(AxXB)-C

T. Hirano

C=XxC,+JC, + 2C,
(AXB)-C
£ 9 2
B, B, B|
A, A 1A, 4, |Ax A
:<’? 8, 5| 7|5 BI|"%s, By>'c
y z x z x y
(o Ay AL A Al A A
<|B, B,|”“IB, BI*"|B, B,
G Cp G| |Ax Ay A,
_|a, 4, 4,|=|B. B, B,
B, B, B| |c. ¢ ¢
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BEREOOEHETHOYYIE T, T
ZENTZE B,
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